Worksheet - 1

A. Fill in the blanks. Use the correct word from the brackets:-
1. The coconut tree was swaying in the breeze.

(Mango tree / Coconut tree)
2. The coconut tree has no branches. ( no/many)
3. The coconut tree has leaves on top. (all over / on top)
4. Satish reached the top of the coconut tree.

( reach / reached )

5. The man is counting the coconuts. ( counting / eating )

B.Choose words from the box and write them in the correct
columns:-
Mat plough cow TV Pond books

Things | see on a farm Things | see at home
Plough Mat
Cow TV

Pond Books




C. Name the pictures. Then add them to these words to make
a new word:-

1. House + i = houseboat

==- + coat = Housecoat

D. Answer these questions:-
1. Who is Satish?
Ans:- Satish is a worker.

2. What does Satish use his knife for?
Ans:- Satish used his knife for cutting coconuts.




